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Multiple Choice ( ) ;( \\ (ﬂ?’ _ 7= ,_3)
3)= 3(-@)- 7= 24

ﬁ‘ @ Lo ) = 3x - Tand g(x) = 2x - 6. Find (f © g)(-1).

_19_ 31 b) -8 c) -26 d) -10
ubtract if possible.
N2a - 4f2a  — 28
22 ¢) 62a
b) —4~/2a d) not possible to simplify
Eg‘ @ Lot/ =3 - 6andg(x) = x- 2. Find £
- 2 1
2 1 Sxb . F3
@ 3 K- (_ £2)
%) x-2
3x-6

d) -3
ﬁ_, Divide and simplify. 9, " @
f 60x 10 - 9 Ci - ‘
- J2Rx

4 TAN_ID
. 5 @)le;.{:f—x ;Ef\‘f :l; rslzigthese ("'37('—7)4.('% K’ZJ[I
—' 8 L)Ct{(;;)c _sq3x_7an bé);(xzc_;lx > Fm@gﬁs) d) x-5 - —751—'9
4 o S'_z_ /J —10-3% -s{e ~6
16 - 7% ~1-Te ) —4-10.6
b) ~16 - 10/6 d) -3+3~/E, ’;5
/ Solve the elquatlon K—’); @53’ \i—l;; 2

( 5Ty
( P, ‘7)5 8 X -
; 25 ‘I-( 3 9 ¢y 1 x‘gc)d) 15
Simplify the radical expFession. S_ 7 L-/
4/525x25y|6 )\

a) 25x49y]6 @Sx? 4 c) Sx!ylﬂ d) 25x49y16
Divide and simplify. /j"\
3‘-’ 220 SL\ g Q §

". 8) SJ_ Y ,o b) 2+/5 o) 120 Ed) /5
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.Q Simplify. / { )7 ﬁ

g3
D ; a)@(\& b) 512 16 d) 4,09
) @ rin feal-number root. =i
3

15 -5

i

343 7
25 125 125 a_ s
D 9 ®) -3 9 029 Ox;

. Which function matches the graph?

Ty
) 14 16| 3]
) [
. a8) y=Ax+5+5 c) y='Jx+ -5
A ”““‘mﬁx“?“?ew{ D y=dEoses
‘ 2 2
1) m Write (27a}? 3 in simplest form a.
b 1 o
(D & 5\ 5—; ) 5o 7
) 9a
& b) 901 L d) none of these
' Multlply and mmphfy if possnbl
S eovan = 3
a) 3\/— b) «/_9 c) ]l»\/g d) not possible
12 , - dd if possiblie,
37x + 35x
a) 612x 42+[5x
O b) 42/7x Ed) Dnot possible to simplify
= Slmphfy the radical expression.

NETTIE j
a) 36g3 b) 36g¢ @@s d) 6g



._B,' € Find all the real square roots of - 19 5

no real root c)
b) -é d) —

ﬁ,_]' Graph the function.
y = Jx+3
W 1 I

a) <)
o) "'—’--‘-‘-- L
.—-‘-’, )
- 4 _; ) 4 4 _,x
s | }“\
- £ —“-..___.--"--"--
Ty :Iy
b) d)
2 2 .
| 4 x - | D 4 x
a | = .
L gy 4 g 3 l
sy 200
()I' implify 4/ 54a1315, a/\l" 3 :
3a4hsi2a N~ c) 3a4h ;J;
1/ 3 y/
b) 2a4b35a/3a r\ d) none of these
ﬂ ind all the real square roots of 3.0381.
0.09 and —0.09 c) 0.00405 and —-0.00405
b) 0.2846 and -0.2846 d) 0.02846 and -0.02846
4 . Let fix) = 3x + 2 and g(x) = x — 3. Find f{x) — — g(x).
a) 2x-5 b) +5 c) dx-1 d) 2x-1
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-C—f Solve the equation. ) K E 5) -&_&\ +

Jx-3-2=4 X 3236

A.

X

a)

‘ Multiply and simplify &/ 7x4 - 3/9x5 .

mé%

x3 - 4/63 ¢) x3.3/63x0
b) A/ 63x? d) none of these
Simptfy— "\ }’( =S
( J7+ 2 ( NN 7%‘ S
a) 9 b) —5A/7 (o ) d 52
Graph the function. \
=x-14 D\Y‘[\ A
a) c) d
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¢ T ' ] > ¢ 113 ‘ ‘
2 Sy 2
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Y
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pa /,
) 4 | - 4 ‘ ) = y 4
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36 b) 33 K= 50( @39 d 9

erte the equation in logarithmic form. -

= 2,401
log,2,401 = 4
log 2,401 = 4

,0»579%0: =t

c) log,2,401 = 7
d) log2,401 =4-7




. { A Graph the exponential function. y = 5(3)*
a) ‘~ @

\ y lly I
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3 0L \\? man
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015 K W
( \ [{/‘ _16_., S N l j 6 x ‘-16__.__.,. 2 ) x
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b)
o
(_-& ™ ) 6
3
® :
&’ Evaluate e93 to four decimal places.
a) 0.7408 g ?9 1.3499 c) 0.8155 d) 2.7183
~ @& Expand the logari C expression.
log, 10p L 10+S- ;\O
a) log;10 - 5log,p ) logs10- Slog,p
b) 10kbg,p’ g, 10 + 5 log,p
“@l) Evaluate the logarithm. g’ X - ..-/- ¥ 5 5-’2-
log o =x a§ >
525 K=- 2
C a) 5 2 d) -1
' Evaluate the logartthm lﬂx
log,216 =x
a) -3 @ d) 2
! p2 Solve 105« = 43 ;
a) 1.0 b) 7.29 Q) 8.17 .33
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._Q:) 7 Graph the logarithmic equation. y = loggx. Usey={-2,-1,0,1,2}.
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_&’ Solve 96 = 55, Round fo the nearest ten-thousandth, X d, -0 g OL{B
a) 10.8607 0.3040 c) 10.9429 d) 1.0179 )(" /
4 An initial population of 880 quaif increases yit an annual rate OW" Write an exponential function to
mogel the quail population. _ %30 ( l ’f’O (B)t
a) )flx) = 880(1.18) c) Ax) = (880-0.18)" A 2l
b) Ax) = 880(18)- d) flx) = 880(0.18)+ - 82 O ( ( /Bjt
D ¢ = 730

Write the equation log,,8 = 5 in exponential form. Blf _—,ﬂ
’ 22
d)

£l 2
3 5

3} 3
a) 8 =32 b) (—-J =8 c) 8° =132 25 =8
5 D
! r Werite the expression as a single logarithm. _/053 ? j3 ’ O

log, 50 - log, 5

a) log,45 b) log10 ( c) jlog, 10 45
7@) Suppose you invest $800 at an annual interest rate of 3.4% compounded continuously. How much will you

have in the account aﬂmears?
' (b a) $24,830.03 2,218.56 c) $9753.29 d) $33,718.74
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.__ /m Solve IOW, za'D $L/><
a) ‘-_i b) 8 *= 2'?@25 d) 185
L{ Graph the function.
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.ﬁa );ﬂ:!tipl;fa:r divide. (95(8/‘;{% . ’é—}

_ W~ 2~ -
5¢ 8¢ LpOcd L Ocd
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: 402

63c'°

(- b 2050 % 20 %\ s
& Bumree §° Gk g5
o3 s jﬁ"ﬂ//a’(é*(a) Ca L) gk

2_29
a) PP,
Mz )
® iy, t2)(p~%
02 ®uwran (o) (piNpRy | ()

p—-5:p2—10p+25}p/{3 CPTL(_) - (P h'f)

| e 2)ps4) /

(p-5)*(p-5)
o (p+2)(p-5)

p+4
Add or subtract. Simplify if |:_:ossible.

- 3(b-2) , | . 3 bt

bre (b\:;:)“’,l) (b?'-l-)(_‘g'l) (’;rl)(la'y Cbn)(b‘lj
3b+7 4 _

Y -2+ B — o -S
36-5 s

2 (b-2)b+2) ¥ {b-2)(b+2) ([0* 2'>(B'2’)



/) zk‘?nH“f'Jn -4

ﬁ' / Add or subtract. Factor and cancel at the end, if possible. ( n-b ) ( n ky
: " +9n+14 2 7 L ~L(ntz
n“rGadly | ==

n* -4n-12 (’n—f'j (n—[p)(ﬂf2)+ (n 'é)("\‘! Z_) ”1’{7,4"'@_

G-6Xn+2) e
n+5 n +9n+12 Lr\-é) (ftfl)
@— ) =
n—=6 n ~-4n-12
b) n+7 d) n+5 ”;V\*{ )C(‘f{)‘\

ﬁSolv:;hf’eequafion. “Q(xfﬂ:"'lf)f—ﬁ-{> —Z(A’L)(%)
e 2 L Do VAT L A

x+4 x-4 4Ny T x e =l
- LB LR b
@-12 b 12 -5 Gt d) -8
- %;IveCtTe equation, C;S- n [0 _ —'g'(_'):f 2 ] = ":)\O_)C
o BT 3o BOX 30X e -2k

30
.ﬁ_’ Solve the equation.
a 43

2 1

ot = Y e~
e :f\ (a-0y (a+p (8N et) (@ +iotiz= (a b
9 b) -6 ———=<) -9and-6 9 6-5\%\*(1;’}2:“(’

QL a&J The distance a spring will stretch varies directly \_m:ih how much weight is attached to the spring. If a spring
stretches 9 inches with 100 pounds attached, how far will it stretch with 90 pounds attached? Round to the

nearest tenth of an inch. __9___ - X 2otizs -
a) 8.9in. b) 10in. ¢3» ™ 9 8.11in. d) 9.lin. — e =g
! 0‘01; =21
=9 P e
The pair of points is on the graph of a dir?ct’variation. Find the missing value. Jeo T

: 2
&Y (2.4,3)and (5, ) a4y -

C_. + -
N a) 144 b) | 5 6.25 d) 0.69
_C-‘( D o, l)an:’:l , 5) 2 '—(6,.:]

2) 7'5'-’5;— b) 2 .;G}—‘@ss Q) 7

7 8
X =
! 2+ B8 The time: rgea;red to drive a certain distance @h the speed ». If it takes 2 hours to drive

the distance at 30 miles per hour, how long will it take To drive the same distance at 50 miles per hour?

CL:-C]

a) 60 hours c) 750 hours
. (®) 1.2 hours d) about3.33 hours
(N 30)=TDx
9
(O =5DF

A
= X~



(CT4x ) =l
[03 ﬂ:/ lg

l ;; The values (9.4, 11) and (11, 3)-are from ma iation. Find the missing value and round to the

. peacgst hundred
.4 c) 1034 d) 11374
ﬁ’ A drama club is 3 : us trip to New York City to see a Broadway play. The cost per person for the

bus rental varies'inversely asjthe number of people going on the trip. It will cost $30 per person if 44

people go on the Trip: much will it cost per person if 60 people go on the trip? Round your answer to
earest cent, if necessary.
a) /$22.00 b) $40.91 c) $1,320.00 d) $21.29
Graph the function. (3 OXL{L{\ = (0 O %
, ) 1390 =¢ Ox
D y=— X= 22
x
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— T 1) I
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v \ Ty

¥

»
T
M

&

10



L@

Sketch the asymptotes and graph the function.
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b) d)
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Write an equation for the translation of y = — that has the asymptotes x =7 and y = 6.
x

et et
= -+ = +
R x-6 =Y x-7

by y= +6 d y= +7
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. Simplify the complex fraction. Y L{ X

L . .
C/":ﬂ ,JLEJ—’ = 57145 (130~ (a)(1739

A i”’%* (ut

) 12x + 4 ¥ 4x
. - -
x(x +3) {x +3)(1 + 3x)
4x
b) d) not here
3x +3)
[ ' 4 Suppose that x and y vary inversely, and x = 4 when y = 8. Write the fustion that models the inverse
variation. _ .
A= z
32 4 !
a = — =z (¢ ) ¢ = -
(Dr=3 K@) - oy-7 A

b) y=2s e - y=%{\ “3’ oS

‘\&J Is the relationship between the variables in the table a direct variation, an inverse variation, or neither? If it
is a direct or inverse variation, write a function to model it.

O x-?qlzmwl'](;;(

y 42 24 -6 -12

e PR ¢k
irect variation; y = —6x &
) L ~294
b) inverse variation; y = —— - \LﬁL
x )
Z)
c) neither C
Short Answer

A 1 Determine whether the function y = 10(1.6)" represents exponential growth or exponential decay.
IS e

@xponential Growth b. Exponential Decay

@’ Determine whether the function y = Z[i] represents exponential growth or exponential decay.

a. Exponential Growth ponentia] Decay
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